Turk. J. Math. Comput. Sci. 16(2)(2024) 346–353 © MatDer DOI : 10.47000/tjmcs.1464650



# **On the Generalized Francois Numbers**

YASEMIN ALP

Department of Education of Mathematics and Science, Faculty of Education, Selcuk University, Konya, Turkey.

Received: 03-04-2024 • Accepted: 02-10-2024

ABSTRACT. This study introduces the generalized Francois numbers and investigates their some properties. In addition, we provide the basic formulas such as Binet's formula, sums formulas. Also, we obtain some identities among the Fibonacci sequence, the Lucas sequence, and the generalized Francois sequence.

2020 AMS Classification: 11B37, 11B39, 11B83, 05A15

Keywords: Binet's formula, Fibonacci numbers, Francois numbers, Lucas numbers, Leonardo numbers.

## 1. INTRODUCTION

Number sequences are an important topic in mathematics. The Fibonacci sequence is one of the most renowned. Leonardo Fibonacci introduced a problem. The Fibonacci sequence emerged the solution of this problem. The sequence has extensive uses in many areas from mathematics to art. In addition, the Fibonacci numbers have in various interesting properties, such as the golden ratio, which arises from the ratio of consecutive the Fibonacci numbers.

For  $n \ge 2$ , the recurrence relation of the Fibonacci sequence is

$$F_n = F_{n-1} + F_{n-2},$$

with  $F_0 = 0, F_1 = 1$ . The Fibonacci numbers are associated with the sequence A000045 in OEIS [13]. The Binet's formula of the Fibonacci sequence is

$$F_n = \frac{\alpha^n - \beta^n}{\alpha - \beta},\tag{1.1}$$

where  $\alpha = \frac{1+\sqrt{5}}{2}$  and  $\beta = \frac{1-\sqrt{5}}{2}$ . Also, the negative indices of the Fibonacci numbers are

$$F_{-n} = (-1)^{n+1} F_n. (1.2)$$

The summation formulas for the Fibonacci numbers are

$$\sum_{i=1}^{n} F_{i} = F_{n+2} - 1,$$
(1.3)
$$\sum_{i=1}^{n} F_{2i} = F_{2n+1} - 1,$$

$$\sum_{i=1}^{n} F_{2i-1} = F_{2n}.$$

Email address: yaseminalp66@gmail.com (Y. Alp)

In addition, there are the following identities of the Fibonacci numbers:

$$F_m F_n - F_{m+k} F_{n-k} = (-1)^{n-k} F_{m+k-n} F_k,$$
(1.4)

$$F_n L_m - F_m L_n = 2(-1)^m F_{n-m}, (1.5)$$

$$F_n L_m + F_m L_n = 2F_{n+m},\tag{1.6}$$

in [5, 14].

One of the other interesting number sequence is Lucas sequence. It is named for honor of the French mathematician Francois Edouard Anatole Lucas. The Lucas numbers share remarkable similarities with the Fibonacci numbers.

For  $n \ge 2$ , the recurrence relation of the Lucas sequence is given as follows:

$$L_n = L_{n-1} + L_{n-2}$$

with  $L_0 = 2, L_1 = 1$ . The Lucas numbers correspond to sequence A000032 in OEIS [13]. The Binet's formula of the Lucas sequence is

$$L_n = \alpha^n + \beta^n, \tag{1.7}$$

where  $\alpha = \frac{1+\sqrt{5}}{2}$  and  $\beta = \frac{1-\sqrt{5}}{2}$ . Negative subscript of the Lucas numbers is defined as follows:

$$L_{-n} = (-1)^n L_n. (1.8)$$

The summation formulas for the Lucas numbers are given as follows:

$$\sum_{i=1}^{n} L_i = L_{n+2} - 3,$$

$$\sum_{i=1}^{n} L_{2i} = L_{2n+1} - 1,$$

$$\sum_{i=1}^{n} L_{2i-1} = L_{2n} - 2.$$
(1.9)

Furthermore, there is the following identity of the Lucas numbers:

$$L_{n+m} + (-1)^m L_{n-m} = L_m L_n, (1.10)$$

in [5, 14].

Some identities between the Fibonacci and the Lucas numbers are as indicated below:

$$F_{n+1} + F_{n-1} = L_n, (1.11)$$

$$L_{n+1} + L_{n-1} = 5F_n, (1.12)$$

$$F_{n+m} + (-1)^m F_{n-m} = L_m F_n, (1.13)$$

$$F_{n+m} - (-1)^m F_{n-m} = F_m L_n, \tag{1.14}$$

$$L_{n+m} - (-1)^m L_{n-m} = 5F_m F_n, (1.15)$$

$$F_{n+2}L_{n+1} - F_{n+1}L_n = F_{2n+2} - 2(-1)^n, (1.16)$$

$$F_n F_{m+1} + F_m F_{n+1} = \frac{2L_{n+m+1} - (-1)^m L_{n-m}}{5}$$
(1.17)

in [5, 14].

Catarino and Borges defined the Leonardo sequences, which are related to the Fibonacci sequence in [2]. For  $n \ge 2$ , the Leonardo sequence is determined by the following recurrence relation:

$$Le_n = Le_{n-1} + Le_{n-2} + 1$$

with  $Le_0 = Le_1 = 1$ . The Leonardo numbers are associated with the sequence A001595 in OEIS [13]. The Binet's formula of the Leonardo sequence is

$$Le_n = \frac{2\alpha^{n+1} - 2\beta^{n+1} - \alpha + \beta}{\alpha - \beta},$$

where  $\alpha = \frac{1+\sqrt{5}}{2}$  and  $\beta = \frac{1-\sqrt{5}}{2}$  in [2].

The researchers investigate topics including generalizations of the Leonardo numbers. The generalized Leonardo numbers are defined by the following recurrence relation for  $n \ge 2$ :

$$\mathcal{L}_{k,n} = \mathcal{L}_{k,n-1} + \mathcal{L}_{k,n-2} + k,$$

with the initial conditions  $\mathcal{L}_{k,0} = \mathcal{L}_{k,1} = 1$ . Furthermore, the relationship between generalized Leonardo numbers and Fibonacci numbers is presented as

$$\mathcal{L}_{k,n} = (k+1)F_{n+1} - k, \tag{1.18}$$

in [6]. The Binet's formula of the generalized Leonardo sequence is

$$\mathcal{L}_{k,n} = (k+1) \left( \frac{\alpha^{n+1} - \beta^{n+1}}{\alpha - \beta} \right) - k,$$

where  $\alpha = \frac{1+\sqrt{5}}{2}$  and  $\beta = \frac{1-\sqrt{5}}{2}$  in [7]. Another version of the Leonardo numbers is defined in [3]. The authors introduced a new version of the Leonardo numbers called the Francois numbers, in honor of the French mathematician Francois Edouard Anatole Lucas. For  $n \ge 2$ , the recurrence relation for Francois sequence is given as follows:

$$\mathcal{F}_n = \mathcal{F}_{n-1} + \mathcal{F}_{n-2} + 1,$$

with the initial conditions  $\mathcal{F}_0 = 2$ ,  $\mathcal{F}_1 = 1$ . This sequence corresponds to the sequence A022318 in OEIS that the initial element is eliminated. The Binet's formula of the Francois sequence is

$$\mathcal{F}_n = \alpha^n + \beta^n + \frac{\alpha^{n+1} - \beta^{n+1}}{\alpha - \beta} - 1,$$

where  $\alpha = \frac{1+\sqrt{5}}{2}$  and  $\beta = \frac{1-\sqrt{5}}{2}$ . The relation among the Francois, the Fibonacci and the Lucas numbers is obtained as  $\mathcal{F}_n = L_n + F_{n+1} - 1,$ 

in [3].

In recent years, the generalizations of the Leonardo numbers have been studied. More information about the Leonardo and the generalized of theLeonardo numbers can be found in [1, 3, 4, 6, 8–12, 15].

The following table displays the first terms of the Fibonacci, the Lucas, the Leonardo, the Francois, and the generalized Leonardo numbers: 

n	$F_n$	$ L_n $	$Le_n$	$ \mathcal{F}_n $	$\mathcal{L}_{k,n}$
0	0	2	1	2	1
1	1	1	1	1	1
2	1	3	3	4	2 + k
3	2	4	5	6	3 + 2k
4	3	7	9	11	5 + 4k
5	5	11	15	18	8 + 7k
6	8	18	25	30	13 + 12k
7	13	29	41	49	21 + 20k
÷	:		:		:

Based on the above papers, we introduce the generalized Francois numbers. Furthermore, we derive various identities concerning the generalized Francois numbers. Finally, all the results are reduced to Francois numbers for k = 1.

2. MAIN RESULTS

Firstly, we introduce the generalized Francois numbers.

**Definition 2.1.** For the positive integer k and  $n \ge 2$  the generalized Francois sequence  $\mathcal{F}_{k,n}$  is defined as follows:

$$\mathcal{F}_{k,n} = \mathcal{F}_{k,n-1} + \mathcal{F}_{k,n-2} + k, \tag{2.1}$$

with the initial conditions  $\mathcal{F}_{k,0} = 2$ ,  $\mathcal{F}_{k,1} = 1$ .

**Proposition 2.2.** The Binet-like formula for the generalized Francois sequence is

$$\mathcal{F}_{k,n} = \alpha^n + \beta^n + k \left( \frac{\alpha^{n+1} - \beta^{n+1}}{\alpha - \beta} \right) - k, \qquad (2.2)$$

where  $\alpha = \frac{1+\sqrt{5}}{2}$  and  $\beta = \frac{1-\sqrt{5}}{2}$ .

Proof. The general solution of the difference equation

$$\mathcal{F}_{k,n} = \mathcal{F}_{k,n-1} + \mathcal{F}_{k,n-2} + k$$

is given by

$$\mathcal{F}_{k,n} = c_1 \alpha^n + c_2 \beta^n - k.$$

Considering that  $\mathcal{F}_{k,0} = 2$ ,  $\mathcal{F}_{k,1} = 1$ , its follows that

$$c_1 = \frac{-(2+k)\beta + 1 + k}{\alpha - \beta}$$
 and  $c_2 = \frac{(2+k)\alpha - 1 - k}{\alpha - \beta}$ 

From here, the result is obtained.

Taking k = 1 in (2.2), we get the Binet-like formula for the Francois sequence as follows:

$$\mathcal{F}_n = \alpha^n + \beta^n + \left(\frac{\alpha^{n+1} - \beta^{n+1}}{\alpha - \beta}\right) - 1,$$

in [3]. Now, we give the generating function for the generalized Francois numbers in the following proposition.

**Proposition 2.3.** The generating function for the generalized Francois numbers is as follows:

$$\sum_{i=0}^{\infty} \mathcal{F}_{k,n} x^n = \frac{(k+1)x^2 - 3x + 2}{1 - 2x + x^3},$$

where  $\mathcal{F}_{k,n}$  is the nth generalized Francois number.

*Proof.* Let us consider the following ordinary generating function:

$$g(x) = \sum_{i=0}^{\infty} \mathcal{F}_{k,n} x^n$$

From the equation (2.1), we obtain

$$\frac{g(x) - \mathcal{F}_{k,0} - \mathcal{F}_{k,1}x}{x^2} = \frac{g(x) - \mathcal{F}_{k,0}}{x} + g(x) + \frac{k}{1-x}.$$

Hence,

$$g(x) = \frac{(k+1)x^2 - 3x + 2}{1 - 2x + x^3}.$$

Taking k = 1, we get the generating function for the Francois numbers as follows:

$$\sum_{i=0}^{\infty} \mathcal{F}_n x^n = \frac{2x^2 - 3x + 2}{1 - 2x + x^3}.$$

**Proposition 2.4.** For any nonnegative integer n, the following identity holds true:

$$\mathcal{F}_{k,n} = L_n + kF_{n+1} - k, \tag{2.3}$$

where  $F_n$ ,  $L_n$ , and  $\mathcal{F}_{k,n}$  are the nth Fibonacci, Lucas and generalized Francois numbers, respectively.

*Proof.* Considering (1.1), (1.7), and (2.2), the result is clear.

From k = 1 in (2.3), we have  $\mathcal{F}_n = L_n + F_{n+1} - 1$  in [3].

**Proposition 2.5.** The negative subscript of the generalized Francois numbers is given as follows:

$$\mathcal{F}_{k,-n} = (-1)^n (L_n + kF_{n-1}) - k$$

 $\mathcal{F}_{k,-n} = L_{-n} + kF_{-n+1} - k.$ 

where  $F_n$ ,  $L_n$ , and  $\mathcal{F}_{k,n}$  are the nth Fibonacci, Lucas and generalized Francois numbers, respectively. *Proof.* Using (2.3), we have

From (1.2) and (1.8), the result is clear.

**Proposition 2.6.** For  $n \ge 1$ , the following identity holds:

$$\mathcal{F}_{k,n+1} + \mathcal{F}_{k,n-1} = 5F_n + kL_{n+1} - 2k,$$

where  $F_n$ ,  $L_n$ , and  $\mathcal{F}_{k,n}$  are the nth Fibonacci, Lucas and generalized Francois numbers, respectively. *Proof.* Using (2.3), we get

$$\mathcal{F}_{k,n+1} + \mathcal{F}_{k,n-1} = (L_{n+1} + L_{n-1}) + k(F_{n+2} + F_n) - 2k$$

Considering (1.11) and (1.12), the result is obtained.

Now, we provide the summation formulas for the generalized Francois numbers.

**Proposition 2.7.** For  $n \ge 0$ , the following summation formulas hold true:

$$\sum_{i=0}^{n} \mathcal{F}_{k,i} = \mathcal{F}_{k,n+2} - 1 - k(n+1),$$
$$\sum_{i=0}^{n} \mathcal{F}_{k,2i} = \mathcal{F}_{k,2n+1} + 1 - kn,$$
$$\sum_{i=0}^{n} \mathcal{F}_{k,2i+1} = \mathcal{F}_{k,2n+2} - 2 - k(n+1)$$

where  $\mathcal{F}_{k,n}$  is the nth generalized Francois number.

*Proof.* From (2.3), the sum of generalized Francois numbers is

$$\sum_{i=0}^{n} \mathcal{F}_{k,i} = \sum_{i=0}^{n} (L_n + kF_{n+1} - k).$$

Using (1.3) and (1.9), we have

$$\sum_{i=0}^{n} \mathcal{F}_{k,i} = L_{n+2} + kF_{n+3} - 1 - 2k - kn.$$

Considering (2.3), the result is obtained. Similarly, the other summation formulas can be proved.

Taking k = 1, the summation formulas for the Francois numbers are obtained as follows:

$$\sum_{i=0}^{n} \mathcal{F}_{i} = \mathcal{F}_{n+2} - 1 - (n+1),$$
  
$$\sum_{i=0}^{n} \mathcal{F}_{2i} = \mathcal{F}_{2n+1} + 1 - n,$$
  
$$\sum_{i=0}^{n} \mathcal{F}_{2i+1} = \mathcal{F}_{2n+2} - 2 - (n+1).$$

**Proposition 2.8.** For any nonnegative integer  $m \ge 1$  and  $n \ge m$ , the following identity holds true:

$$\mathcal{F}_{k,n+m} + (-1)^m \mathcal{F}_{k,n-m} = L_m (\mathcal{F}_{k,n} + k) - k(1 + (-1)^m),$$
  
$$\mathcal{F}_{k,n+m} - (-1)^m \mathcal{F}_{k,n-m} = F_m (5F_n + kL_{n+1}) - k(1 - (-1)^m),$$

where  $F_n$ ,  $L_n$ , and  $\mathcal{F}_{k,n}$  are the nth Fibonacci, Lucas and generalized Francois numbers, respectively.

*Proof.* From (2.3), we get

$$\mathcal{F}_{k,n+m} + (-1)^m \mathcal{F}_{k,n-m} = (L_{n+m} + (-1)^m L_{n-m}) - k(1 + (-1)^m) + k(F_{n+m+1} + (-1)^m F_{n-m+1}) + k(F_{n+m+1} + (-1)^m F_{$$

Using (1.13), (1.10), and (2.3), the first identity is obtained. Similarly, the other identity is derived by using (1.14), (1.15), and (2.3).  $\Box$ 

**Proposition 2.9.** For nonnegative integers m and r where  $m \ge r + 4$ , the following identity is valid:

$$\begin{aligned} \mathcal{F}_{k,m+r}\mathcal{F}_{k,m+r-2} + \mathcal{F}_{k,m-r}\mathcal{F}_{k,m-r-2} &= L_{2m-2}L_{2r} - 5k(F_{m+r-1} + F_{m-r-1}) + 6(-1)^{m+r} \\ &+ k(2F_{2m-1}L_{2r} + 6(-1)^{m+r}) - k^2(L_{m+r} + L_{m-r}) \\ &+ \frac{k^2}{5}(L_{2m}L_{2r} + 6(-1)^{m+r}) + 2k^2, \end{aligned}$$

where  $F_n$ ,  $L_n$ , and  $\mathcal{F}_{k,n}$  are the nth Fibonacci, Lucas and generalized Francois numbers, respectively. *Proof.* Using (2.2) to LHS, we obtain

$$LHS = \left(\alpha^{m+r} + \beta^{m+r} + k\left(\frac{\alpha^{m+r+1} - \beta^{m+r+1}}{\alpha - \beta}\right) - k\right) \left(\alpha^{m+r-2} + \beta^{m+r-2} + k\left(\frac{\alpha^{m+r-1} - \beta^{m+r-1}}{\alpha - \beta}\right) - k\right) + \left(\alpha^{m-r} + \beta^{m-r} + k\left(\frac{\alpha^{m-r+1} - \beta^{m-r+1}}{\alpha - \beta}\right) - k\right) \left(\alpha^{m-r-2} + \beta^{m-r-2} + k\left(\frac{\alpha^{m-r-1} - \beta^{m-r-1}}{\alpha - \beta}\right) - k\right).$$

Hence, we have

$$\begin{split} LHS &= L_{2m+2r-2} + L_{2m-2r-2} + 6(-1)^{m+r} \\ &- k(L_{m+r} + L_{m+r-2}) - k(L_{m-r} + L_{m-r-2}) \\ &+ k(2F_{2m+2r-1} + 2F_{2m-2r-1} + 3(-1)^{m+r} + 3(-1)^{m-r}) \\ &+ 2k^2 + \frac{k^2}{5}(L_{2m+2r} + L_{2m-2r} + 6(-1)^{m+r}) \\ &- k^2(F_{m+r+1} + F_{m-r+1}) - k^2(F_{m+r-1} + F_{m-r-1}). \end{split}$$

From (1.10), (1.11), (1.12), and (1.13), the result is clear.

Now, we provide the identities between the generalized Francois numbers and the generalized Leonardo numbers.

**Proposition 2.10.** For any nonnegative integer n, we have

$$\mathcal{F}_{k,n+1}\mathcal{L}_{k,n+1} - \mathcal{F}_{k,n}\mathcal{L}_{k,n} = (k+1)(F_{2n+2} - 2(-1)^n) - kL_{n-1} + kF_n((k+1)F_{n+3} - 1 - 2k),$$

where  $F_n$ ,  $L_n$ ,  $\mathcal{L}_{k,n}$ , and  $\mathcal{F}_{k,n}$  are the nth Fibonacci, Lucas, generalized Leonardo and generalized Francois numbers, respectively.

*Proof.* Using (2.3) and (1.18) to left hand side (LHS), we get

$$LHS = (L_{n+1} + kF_{n+2} - k)((k+1)F_{n+2} - k) - (L_n + kF_{n+1} - k)((k+1)F_{n+1} - k).$$

Hence, we have

$$LHS = (k+1)(F_{n+2}L_{n+1} - F_{n+1}L_n) - kL_{n-1} + kF_n((k+1)F_{n+3} - 1 - 2k).$$

Considering (1.16), the result is obtained.

Taking k = 1, we derive the following identity between the Leonardo and the Francois numbers:

$$\mathcal{F}_{n+1}Le_{n+1} - \mathcal{F}_nLe_n = (k+1)(F_{2n+2} - 2(-1)^n) - L_{n-1} + F_n(2F_{n+3} - 3).$$

Now, we present the relationships between the generalized Francois and the Fibonacci numbers.

**Proposition 2.11.** For  $m \ge 1$  and  $n \ge m + 1$ , the following identities hold true:

$$F_{n}\mathcal{F}_{k,m} - F_{m}\mathcal{F}_{k,n} = F_{n-m}(2(-1)^{m} + k) + k(F_{m} - F_{n}),$$
  
$$F_{n}\mathcal{F}_{k,m} + F_{m}\mathcal{F}_{k,n} = 2F_{n+m} - k(F_{m} + F_{n}) + k\left(\frac{2L_{n+m+1} - (-1)^{m}L_{n-m}}{5}\right)$$

where  $F_n$ ,  $L_n$ , and  $\mathcal{F}_{k,n}$  are the nth Fibonacci, Lucas and generalized Francois numbers, respectively.

*Proof.* Using (2.3) to LHS, we get

$$LHS = F_n L_m - F_m L_n + k(F_n F_{m+1} - F_m F_{n+1}) + k(F_m - F_n).$$

From (1.4) and (1.5), the first identity is obtained. Similarly, the second identity can be found by using (1.17) and (1.6).  $\Box$ 

**Proposition 2.12.** For  $m \ge 1$  and  $n \ge m + 1$ , the following identities hold true:

$$L_{n}\mathcal{F}_{k,m} - L_{m}\mathcal{F}_{k,n} = k(-1)^{m+1}F_{n-m} - k(L_{n} - L_{m}),$$
  

$$L_{n}\mathcal{F}_{k,m} + L_{m}\mathcal{F}_{k,n} = 2L_{n}L_{m} - k(L_{n} + L_{m}) + k(2F_{n+m+1} + (-1)^{m}L_{n-m}),$$

where  $F_n$ ,  $L_n$ , and  $\mathcal{F}_{k,n}$  are the nth Fibonacci, Lucas and generalized Francois numbers, respectively.

*Proof.* Using (2.3) to LHS, we get

$$LHS = k(L_n F_{m+1} - L_m F_{n+1}) - k(L_n - L_m)$$

From (1.5), the first identity is clear. Similarly, the second identity can be obtained.

### 3. CONCLUSION

In this study, the generalized Francois numbers are considered. The basic identities related to these numbers are obtained. In addition, the relations between these numbers, Fibonacci and Lucas numbers are provided. In future studies, other properties of the generalized Francois numbers can be found and the different number systems can be defined with these numbers and their properties can be analyzed.

#### ACKNOWLEDGEMENT

The author thanks the referees for their careful reading of the manuscript and helpful comments.

#### **CONFLICTS OF INTEREST**

The author declares that there are no conflicts of interest regarding the publication of this article.

#### AUTHORS CONTRIBUTION STATEMENT

The author has read and agreed the published version of the manuscript.

#### References

- [1] Alp, Y., Kocer, E.G., Some properties of Lenardo numbers, Konuralp J. Math., 9(1)(2021), 183–189.
- [2] Catarino, P., Borges, A., On Leonardo numbers, Acta Math. Univ. Comenian, 89(1) (2019), 75–86.
- [3] Diskaya, O., Menken, H., Catarino, P., On the hyperbolic Leonardo and hyperbolic Francois quaternions, Journal of New Theory, 42(2023)(2023), 74–85.
- [4] Gökbaş, H., A new family of number sequences: Leonardo-Alwyn numbers, Armenian Journal of Mathematics, 15(6)(2023), 1–13.
- [5] Koshy, T., Fibonacci and Lucas Numbers with Applications, John Wiley&Sons, 2001.
- [6] Kuhapatanakul, K., Chobsorn, J., On the generalized Leonardo numbers, Integers, 22(2022), A48.
- [7] Kumari, M., Prasad, K., Mahato, H., Catarino, P.M.M., On the generalized Leonardo quaternions and associated spinors, Kragujevac Journal of Mathematics, 50(3)(2026), 425–438.
- [8] Cerda-Morales, G., Introduction to generalized Leonardo-Alwyn hybrid numbers, (2024), arXiv:2405.13074.
- [9] Saçlı, G.Y., Yüce, S., A note on hyper-dual numbers with the Leonardo-Alwyn sequence, Turkish Journal of Mathematics and Computer Science, 16(1)(2024), 154–161.
- [10] Savin, D., Tan, E., On Companion sequences associated with Leonardo quaternions: Applications over finite fields, (2024), arXiv:2403.01592.
- [11] Shannon, A.G., A note on generalized Leonardo numbers, Notes on Number Theory and Discrete Mathematics, 25(3)(2019), 97-101.

- [12] Shattuck, M., Combinatorial proofs of identities for the generalized Leonardo numbers, Notes on Number Theory and Discrete Mathematics, 28(24)(2022), 778–790.
- [13] Sloane, N.J.A., The On-Line Encyclopedia of Integer Sequences, http://oeis.org.
- [14] Vajda, S., Fibonacci and Lucas Numbers and the Golden Section: Theory and Applications, Halsted Press, 1989.
- [15] Yilmaz, Ç.Z., Saçlı, G.Y., On dual quaternions with k-generalized Leonardo components, Journal of New Theory, 44(2023), 31-42.